Multiplying Integers (H)

Name:

—13x(-8) =
10 x 30 =
11 x1 =

—11 X% 39

10X (—24) =
22 %25 =
47%x(-2) =
—20X% 20 =
8 X8 =

8 X (—36)=
—-1x37 =
14 x 21 =

—6 % (—31)

-7x(-1) =
1x48 =
35X (—44) =

—-29X%X9 =

7 %X (—8)
—31x(-12)=
—-23x17 =

—7%(=29) =
—40 X (—14) =
46 X (—40) =
30X 36 =

-33%x47 =

Date:

Calculate each product.

—4 X 22 =
—3x(-16)=
17 X (—36) =
—34x21 =
48 % (—11) =
—49x (—8) =
—18x(-19)=
12%(=31)=
4x41 =
—22 X 36 =
34x19 =
—25 X (—26) =
5x16 =
26 X (—22)=
—4 X3 =
25%(—15)=
—22X%(-39)=
—40 % (—42) =
9% (—33)=
40 X (—35) =
3X9 =
41 X (—40) =
—37x(-36)=
39x7 =

—4 X (—26)=

36 X3 =
38 X (—40) =
2X(—12)=
27 %3 =
35x 50 =
35X6 =
—24%x(-19)=
33x(=31)=
36 X (—47) =
35 (—38) =
—49%x44 =
—22 %X (—40) =
26 X (—40) =
—-22x%x(-10)=
12 X 24 =
—12x 38 =
18 X (—25) =
8 X 44 =

9 x 28 =
1x43 =
—10x 14 =

—-25%X35 =

—21 X (—49)
—48 x (—18) =

30x50 =

Score:

46 X (—15) =
—36x47 =
—46Xx49 =

18 X 46

—34 % (—36)=
—27 X (=50) =
-7%x30 =
49 x (—26) =
-2X32 =
5% (—49) =
—42 % (-27)=
—11 x4 =
—29 % (—32)=
—48 % (=32)=
7% (—13)=
—15x (—38) =
—13x(—32)=
33x46 =
17 X (—26) =
12 x 47 =
—42 X 24 =
—31%x26 =
—33 % (—30)=
—40%x(-8) =

8 X (—27)=
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Multiplying Integers (H) Answers

Name:

—13x(-8) =

10 x 30

11X1 =

—11 X% 39

10 X (—24)

22X 25

47%x(-2) =

—20X% 20

8X8 =

8 X (—36)
—1x37 =
14 x 21 =

—6 % (—31)

-7x(-1) =
1x48 =
35X (—44) =
—-29X%X9 =

7 %X (—8)

—31x(-12)=
—23 %17 =
—7%x(=29)=

—40 X (—14) =

46 X (—40) = —1840

30x36 =

—33Xx47

104

300

11

—429

—240

550

—94

—400

64

—288

—37

294

186

7

48

—1540

—261

—56

372

—391

203

560

1080

=-—1551

Date:

Calculate each product.

—4 %22 =
—3%x(-16)=
17 X (—36) =

—34x21

48 % (—11) =
—49x (—8) =
—18x(-19)=

12x(-31)=

4x41 =
—22 X 36 =
34x19 =
—25 X (—26) =
5x16 =

26 X (—22)=

—4 X3 =

25%(—15)=
—22X%(-39)=
—40 % (—42) =

9% (—33)=

40 x (—35) =

3X9 =

41 X (—40) =
—37%x(—36)=

39x7 =

—4 X (—26)=

—88

48

—612

—714

—528

392

342

—372

164

—792

646

650

80

—572

—-12

—375

858

1680

—297

—1400

27

—1640

1332

273

104

36 X3 =
38 X (—40) =
2X(—12)=
27 %3 =
35x 50 =
35X6 =
—24x(-19)=
33%x(-31)=
36 X (—47) =
35 (—38) =
—49%x44 =
—22 %X (—40) =
26 X (—40) =
—-22x%x(-10)=
12 X 24 =
—12x 38 =
18 X (—25) =

8 X 44 =

9 x 28 =
1x43 =
—10x 14 =
—25X% 35 =
—21x(—49)=
—48 X (—18) =

30x50 =

108

—1520

—24

81

1750

210

456

—1023

—1692

—1330

—2156

880

—1040

220

288

—456

—450

352

252

43

—140

—875

1029

864

1500

Score:

46 X (—15)
—36x47 =
—46Xx49 =

18 X 46

—34 % (—36)=
—27 X (=50) =
-7%x30 =
49 x (—26) =
—-2%X32 =
5% (—49)=
—42 % (=27) =
—11 x4 =
—29 % (—32)=
—48 % (=32)=
7%X(—-13)=
—15x (—38) =
—13x(—32)=

33X 46

17 X (—26) =

12 x 47

—42x24 =
—31Xx26 =
—33 % (—30)=
—40%x(-8) =

8 X (—27)=

—690

—1692

—2254

828

1224

1350

—-210

—1274

—64

—245

1134

—44

928

1536

-91

570

416

1518

—442

564

—1008

—806

990

320

—-216
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